x+3=2x+2

gl
oF
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ca

2x+ 2

x+3,94

® 4 .



® 2-(x-3)=5-x @ 3(x-1)=3x-1

@ xXxXx=3x

@D 14 @ 274 ® 370 @ 474 G 570




—2x+5="T-5x

@ -2x-5x=7-5

DO -2x+5x=T74+5

-7-5

@ -2x+ 5x

® -2x-5x=7+5

B —2x+5x=7-5



=-x

@ x*+1

@ 3x+6-3x

@ x+x2+3=x2

@ 2x-1=3(x-1)—x

B x+x2+1=x



74z0] Zolzt x, Al2e] Polvt 3 9 AAZEE el Sele] Aol
= 16 o],

@ 2x+3=16 @ 2x-3=16 ® 2(x+3) =16

@ 2(x-3)=16 & 2x—6=16



stol 4 %
lax+3 =4x - b 7} BE xof tiste] 34
=X ax — E
;15}02 ab 2] & ool

Chiab =



D 3x+1=x+14
®5=x+3

B 4x=x-3
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WA 3x—11 = —5x+132] a7} x of] TS HH 4] 3(ax-2) = 2ax+6
o] a9 - HHO] o, a ©] gh-2?
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11.

5x 48 =23 9] & 17| flsto] Bagt 549 4
H? (&, c= 0H T F HH)

® a+c=b+c @ a-c=b-c

b
® a=b %4 Y ac=bc @a:bOE]EHE:E

® a=c M ac=c?



2x+1

xX—95

.

ul



@ 2(x+1)=3x-4

@ Tx+1=2x+3



@ 2x>x

@ 2x=6

@ -x+5=-x+5

@ 1<3



@ 5x-3=6 @ x-2=1

D 2x+1>0

® 2+1=3

@ 5>2



® x+220

@ 4>3

D 143=14

® x-3=3






18. the = WAl el g Fateler

0.7(2a —4) = 1.2(1 + 2a)
24+ 0.4x=25+0.1x

(=g
=%



19. WA (54 x) - (2x— %) — 1178 TR o] 7S Fatolel,

Be-
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